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Time:0



E,m, L, G represent energy. mass, angular momentum and gravitational constant respectively. The

2

dimensions of e will be that of
m>G2

Em,L,G 00 ST 48, (3035073, S0 (¢9ad33i0 anBAkn Heheds QTr0dsned

T L ELZ L
AP0V, — 20 TA MANVOTAY
m
Options :
Angle
§°c20
1.4
Length
&rCho)
2 ®
Mass
1C30050°%
3 %
Time
S0
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: ; , , 5 " .
A body starting from rest moving with an acceleration otz ms 2. The distance travelled by the

body 1n the third second 1s:
o o W W 5 — W W W, Wl g
D50 D& DO 2ADNTON 28 SeYay = ms 2 ¢ £83E9a0 & (HOSPEI0T) L) &.

305 28R S Q)Y (HAPEIODD SrBain

Options :
15
g m
1. %
25
— m
8
2.
25
—
4
3. %
12
— m
7
4, %
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A projectile can have the same range (R) for two angles of projection. Their mitial velocities are
same, If T, and T, are times of flight in two cases. then the product of two times of flight 1s directly
proportional to

2,8 |98 %50, Boch T I8 Fsdnod 198 HotadSyh &8 § 8z darosd
752 (R) $O8 006, a7 SO Trren a0, T, HOO T, e S T (53 98
T (0057 TN TR0, 48 TOW (DOIFE S0 ©2a) (506

D0 DENSE BNS SFDHTHOS SO

Options :

4.+
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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If |F + 6| = |E| = |E| then the angle between P and E 1s

[P+ Q| = |P| = |Q] @00, P 805 Q SOF a0E5§ §asin

Options :



D_I:I

1. %

120°
2.

60°
3. %

90°
4, ®

Question Number : 85 Question Id : 4509386645 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A 4 kg mass 1s suspended as shown 1 figure. All pulleys are frictionless and spring constant K 1s
8 x 10° Nm ™. The extension in spring is (g = 10 ms™?)
S0 TTHRASLY 4 ke (335079 (SercBohat08. ©) En)en sdeadirdo

B0 1200 VT°050 K = 8 x 10° Nm ™ 9008 |00 S e (g=10ms?)

4kg

1ririier

Options :

2 mm



2 cm
2.

4 cm
3. %

4 mm
4, %

Question Number : 86 Question Id : 4509386646 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A 3 kg block 15 connected as shown in the figure. Spring constants of two springs K; and K, are

50 Nm™and 150 Nm™* respectively. The block is released from rest with the springs unstretched.

The acceleration of the block in its lowest position is (g = 10 ms™2)

A0S IIABID 3 kg © OAD OO K, K, O SO
50 Nm2e00050 150 N~ (16 (20 ©8) 827, 120 065 riheie Sessych
B VTR N0 HOEPH. WONB AR TR Aol F'N0 G )Y

¢ 636207 (g = 10ms™2)

kg

K
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10 ms ™2

1. ¢

12 ms ™2
2. ®

8 ms 2
3. %

8.8 ms ™2
4, %

Question Number : 87 Question Id : 4509386647 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two bodies A and B of masses 2m and m are projected vertically upwards from the ground with

velocities u and 2u respectively. The ratio of the kinetic energy of body A and the potential energy

of body B at a height equal to half of the maximum height reached by body A is

2m B0 m ($S3THeEN e Toh S Yo A HAAM B 2470 ok §edz
00T SEIT 1 HOO 2u FTOS 28 DITATOD. He0a) A TV (1832 NS
0 ) 238 Seda) A G30E), Hede 38 SO0 e B TI0E) W&z 48 A e

Options :
8:1
1. %
d A |
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Question Number : 88 Question Id : 4509386648 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Abody of mass 2 kg collides head on with another body of mass 4 kg, If the relative velocities of
the bodies before and after collision are 10 ms™ and 4 ms™ respectively. the loss of kinetic

energy of the system due to the collision is
2kg (969507 110 2,8 5:0Y 4 kg (3035073 (1) S0EFE IS DDA AP0
20200, @DIrFAS 0D OO DITTAS ST D) AT, IV

T 10 ms™ HBAM 4 ms™ O, WDIPHO 2 5 ARV RN J9)0

Options:

- 28]

56 ]
2. ¥

84]

42]



Question Number : 89 Question Id : 4509386649 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The moment of inertia of a solid sphere of mass 20 kg and diameter 20 cm about the tangent to the

sphere is

20869 § |2Pa050

Options :

0.24 kem?

0.14 kgm?

0.28 kgm?
3. v

0.08 kgm?
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A wooden plank of mass 90 kg and length 3.3 m is floating on still water. A girl of mass
20 Kg walks from one end to the other end of the plank. The distance through which the plank
moves 18

185295078 90 kg DO rched) 33 m 1) 2.8 TEL 2O AOEET &3) A 3 Bew
0. (A50°8 20kg o) 2.8 2POS 2O 2.8 DG DO DTS VIOH G
39900, 20 56 ¢rdo

Options :

30 cm
1. %

40 cm
80 cm

60 cm
4. &
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a time of 2 s, the amplitude of a damped oscillator becomes : fimes 1ts initial amplitude A. In

e

the next two seconds, the amplitude of the oscillator 1s
o — o, -t o 0 T Vo L o 1
255008 28 @300 Berg0 T8 Z029% HODS T SO L0 HONE A S\};

BEY @D, B Boch DE0RES, Bergo T $05: HBNS

Options :
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32
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Question Number : 92 Question Id : 4509386652 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A particle is executing simple harmonic motion with a time period of 3 5. At a position where the

displacement of the particle is 60% of its amplitude. the ratio of the kinetic and potential energies

of the particle is

2,880 3 s © BOTN0N $008 N8 (P08 TS0 TN, §80
(25070, T 50206 DBe3S 60% D3 FPI0 WG 8890 G0E), (132 SHOON

03 1 M)

-1

Options :
33
1. %
16:9

2. ¢



Question Number : 93 Question Id : 4509386653 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The acceleration due to gravity at a height of 6400 km from the surface of the earth is 2.5 ms ™.

The acceleration due to gravity at a height of 12800 km from the surface of the earth is (Radius of

the earth = 6400 km)
5 GOS0 DG 6400 km &) I DS S 6 (30 2.5 ms ™% 4T B0
0E 12800 km )¢ 56 (ke s ¢ 583690 (25 7580 = 6400 k)

Options :

1.11 ms—2
1.9

1.5 ms 2
2. ®

2.22 ms 2

1.25 ms 2



Question Number : 94 Question Id : 4509386654 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When the load applied to a wire 1s increased from 5 kg wt to 8 kg wt, the elongation of the wire
mcreases from 1mm to 1.8 mm. The work done during the elongation of the wire is

(Acceleration due to gravity = 10 ms™2)

2,8 15 ©903008ES 22T §kgwt KOG 8 kg wt K O, S’ P
Tmm 0B 18mm & DOTD. of FHAeS 2600 9 (hddehs éb 5580 =

10 ms'z)

Options :

47 x 1073

72 x 1073 ]

25 x 1073 ]

a7 w il %]
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The radius of cross-section of the cylindrical tube of a spray pump is 2 cm. One end of the pump
has 50 fine holes each of radivs 0.4 mm. If the speed of flow of the liquid mside the tube 1s
0.04 ms™?, the speed of ejection of the liquid from the holes is

28 () D02 WS DTS F5r00 2 em. 08 2.8 DG 2883 0.4mm
TG0 fe) 8 Bo|Gren 50 G0N, )0 SN0 (B [DeF 56 0.04ms™

o GO|FT'O 0 AR |50 S
Options :

6 ms !
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Time:0



The temperature difference across two cylindrical rods A and B of same material and same mass
are 40 °C and 60 °C respectively. In steady state, if the rates of flow of heat through the rods A and

B are m the ratio 3 ¢ 8. the ratio of the lengths of the rods A and B 1s

23 erGod Tohad, 28 (33507 o A OO B & Todk T §Go
D00 D5 10 G BTen ST 40°C HOAN 60°C. AOE IBES, A
5805 B 30 500 Gy BE0e D)8 3:8 ©and, A SO0 B §Go
Chaden AN

Options :

1-3

5:3

4-3
3.
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The efficiency of a Carnot cycle is = By lowering the temperature of sink by 65 K. it increases to
1 51 5 |
- The itial and final temperature of the sink are

28 58 D0 Gg) G86 - . berdaHo GfidD 65K dfochey T o o

(=

csggméso 20T, 300 Jeeriaho Tty O $HBak &6 G S
Options :

400 K, 310K
1. %

525K, 65K

309 K,235K

325K,260K
4.
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Ina cold storage. ice melts at the rate of 2 kg per hour when the external temperature 1s 20 °C. The
minimum power output of the motor used to drive the refrigerator which just prevents the ice from

melting is (latent heat of fusion of ice = 80 cal g™)

2 G516 20 °C G05) ek, 2.8 980 AR S0t KoL 2 kg B 5509
$Henod. Hoth Ehded 80D, O OWOTE ORIV TALN
&IOPA0T FPErdh GINE) SN AGe Rrandseiy

(002D | s P20 =80 cal g2

Options :

28.5W
1. %

13.6 W
2. ¢

9.75W

16.4W

Question Number : 99 Question Id : 4509386659 Display Question Number : Yes Is Question
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Time:0

A Carnot engine has the same efficiency between 800 K and 500 K. and x > 600 K and 600 K.

The value of %" 1s

2,858 AH0[$0 800K $HBAM 500K, x > 600 K DB 600K © ¢ 2.5 38 ey
400 000D, BONS % NN

Options:



1000 K

1. &

960 K
2. %

846 K
3. %

754 K
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Time:0

When the temperature of a gas is raised from 27 °C to 90 °C. the increase in the rms velocity of

the gas molecules 1s
2,8 P0Ia) G308, &S 27 °C HOG 90°C 0 DOWda))ch), & O8N e
rms SHOS DEHEE

Options :

10 %
1. ¢

15 %

20 %
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Question Number : 101 Question Id : 4509386661 Display Question Number : Yes Is Question
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Time:0

If the frequency of a wave is increased by 25%, then the change 1n 1ts wavelength 1s (medium not

changed)
2,8 SO0 G308 TSy 25% OB, R BBoKTEE506 A 7)) (GirSE0
Sr68)

Options :

20% increase

20% DM

1. %
20% decrease
20% 5D
2.
259% increase
25% 20
25% decrease
25% 5D
4, %

Question Number : 102 Question Id : 4509386662 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An object Iying 100 cm mside water is viewed normally from air. If the refractive mdex of water
4 : 2l
e then the apparent depth of the object 1s

DB N 100 em 3¢ 110 2,8 S eYoD TPOS' (06 ©02OT LrF e, e 8853

4 e
(heago ; NS, & I Da) TE) (985 Se

Options :

100 cm

50 cm

25 cm

7hcm
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In Young's double slit experiment. two shits are placed 2 mm from each other. Interference pattern
is observed on a screen placed 2 m from the plane of the slits. Then the fringe width for a light of

wavelength 400 nm 1s

00 & 5005 )T Toch DOZOD 28mATES 2 mm S80S @507,
58868 o5, DO B0 Hof 2m Erdod G0 B HBID0TE.
$E01TY50 400 nm EOAS SO HE3 Fchen)

Options :

04107 ®m

4%x107%m

0.4%x103m
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Two spheres A & B of radii 4 cm & 6 cm are given charges of 80 nC & 40 C respectively. If they
are connected by a fine wire. the amount of charge flowing from one to the other 1s

TSTEN 4 cm oDBOW 6cm (96) A DGO B T O Feme)8) DT 80 uC & 40
1C BS3Te0 2505, 8 30ch Fred 99 A 098, 28 f¥o Dok
OGNS FmR8 (NPT ANITTRF0 067



Options :

32uC fromBto A
B DO A B0 32 uC

1. #

32 uC fromAto B

A DO B 5 32 uC
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20 uC fromAto B

A Ho& B 8y 20 uC
3. %

16 uC from B to A

. B DOG A5 16 uC

4,
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Time:0

The angle between the electric dipole moment of a dipole and the electric field strength

due to it on the equatorial line 1s
28 B BN ABEY) AJZTNTS, 8 A0 TBE) NS
©0D0DZ) DDA DO 36 DS 3 (@RS Sied3 §e0

Options :



90°

180°
3.

270°
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Time:0

Two condensers ;& C, in a circuit are joined as shown in the figure, The potential of point A 1s V;

and that of point B is V;. The potential at point D will be

. } I 3 } ’
B
: g 2 g

Sr00 e ¢ HOAD ¢, O NS BFRSL dogro Bohadaron. A

B0 B DOched® SO PTVOHO DT ¥, D050 ¥, @ons, D HONs) 96

FDIHO
b0 \ b
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Options :
1
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C,Vy + G115
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iV + GV,

C G
3 v 1+
CVy — GV,
A gl 0
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Time:0
A block has dimensions 1cm,2cmand 3em. Ratio of the maximum resistance to minimum

resistance between any pair of opposite faces of the block is

2,8 O Ghg) Treden 1em, 2em DO 3em. AT TG o) BO BN
ere) Y3 (10a) OO §Ra) AOTFE )&

Options :

9:1
1.4

1:9
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Time:0
A current of 6 A enters one corner P of an equilateral triangle PQR having three wires of resistance

2 () each and leaves by the corner R as shown in figure, Then the currents I and [, are respectively

25358 20 G0 Hrch BSOS POR ©F HDm [812Hz0 TanaAI.
6 A DCHSS [NaTiT0 (B0 ) P XX & 507 S8 (53300 0SS r D

R S0 T 50° A8 D00, 90N DD (DaToFeN Iy, I € ST

Options :
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Time:0

The value of shunt resistance, that allows only 10% of mam current through the galvanometer of

resistance 99 Q 1
DBE0 992 150> T SRTE0 T 507 (GRS AEDES (HTTOS SO0 10% g

908 23, 208 ABG0
Options :

20

4Q

11 ©2
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In hydrogen atom an electron is making 6.6 * 10 rev/s around the nucleus of radius 0.47 A. The

magnetic field induction produced at the centre of the orbit is nearly
TPEES N0TEIS 28 JOFD 047 A 50 Ko T0i8E0 WEF EHH
6.6 % 105 DB(BDETEN DNNYLD. O[T §55 T0(I0 ¢ ©ODRIL06h T (& |8

2N T

Options :

0.14 wh m™?
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1.4whm™?
2. %

14 wh m™2
3.v

140 wh m™2
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Time: 0
Any magnetic material loses its magnetic property. when 1t is

DB @AN08 D0 e )ch TR @OHRT 06 ST §S )0
Options :
Dipped in water

DS’ SN0

1. %



Dipped in sand

i RDES” SNODIHCH
2.

Attached to an iron piece

2,8 Qe 08250 @380 S0
3. %

Heated to high temperature

@95 G 11695) DA VIR CD
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When two coaxial coils having same current in same direction are brought to each other. then the

value of current m both the coils
2.8 O3S DT DN (D), Boch P8 B O LTRSS
ST Bk, 8 Boc SIHINHOS DEDIS (NTeF0 e

Options :

Increases

DD TOCDOE

1. %

Decreases

8 3Nod
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Remains same

SPGB0 VSO GoeNOH

Increases in one coil and decreases in other coil

a8 SHNES’ S9OTOE HFE QS §5N0H
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Time:0
A resistance of 20 () 1s connected to a source of an alternating potential V = 200 sin(10mt). If t s

the time taken by the current to change from the peak value to rms value, then 't’ is (in seconds),

V = 200sin(10mt) 52068 FOV0HO BI5RE 20 0 ATA0 00008, R Dcid
IO 30 Densd AOG rms DENSE) SPEFTAS DT 't BSOS 't e

S oF
Options :
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The average value of electric energy density in an electromagnetic wave is.

[where E, 1s peak value]

oy af af s ] oy A e W, o W
2,8 D giahary 06 edGorod Ache 48 r0|cded TREY MED dened?
[E, 30 2eNa]

Options :
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An electron of mass ‘m’ with initial velocity v = v,i (v, > 0) enters in an electric field E = —E,
[E, is constant > 0] at t = 0. If A is its de-Brogli wavelength initially, then the de-Brogli wave

length after ime ¢ is

m (S50 7 = vy (vp > 0) SO0 50 2.8 JOFTD E = —Eql (B, > 0) 50 dchgd
5160 SR8 =08 (N390008. & oFS &6 &S o B0 1 ©owS, ¢
500 056 A1 ol BYs0.

Options:
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1t — meson of charge ‘e’. mass 208 me moves in a circular orbit around a heavy nucleus having
charge +3e. The quantum state ‘" for which the radius of the orbit is same as that of the first Bolr

rbit for hydrogen atom is [approximately]
&S50 ‘¢, (53503 208 me 1) 2.8 p- O +3¢ SIH0 Ho) 2rUT0|BE0 ey
S9TES 8855 BNMHK0D. O TI000 DB 7* H A 855 G0 BB
DBSPEN) TBE VA 5D E58 FEITRE NPT RO [P

Options :
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Time:0

A nucleus with atomic mass number A’ produces another nucleus by loosing 2 alpha particles, The

volume of the new nucleus is 60 times that of the alpha particle. The atomic mass number A of the

original nucleus 1s

A (555078 208 (10 28 S01980 BOch Ber) SeTrered) TS )3B0 o 507 TS §éh

S0[00S) et e T0D. & & So|d8o GE) MdNdarEo ser) §e

NNBSPETAE 60 TEY, ONB SE) 0|¢H BTN |5e3078 03 (A)
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228
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Time: 0

A full wave rectifier circuit is operating from 50 Hz mains, the fundamental frequency in the ripple

output will be
28 o8 0001 505 86 HOODHO ARF00CD 50 Hz © Pdeed 50 SnBI0.

&3 508,065 AJeiad S0 BB DD (eI )50 DV

Options :

50 Hz
1. %

70.7 Hz
2. %

100 Hz
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25 Hz
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Time:0

A PN junction diode 1s used as

Options :

An amplifier

Q50
’|_ )
A rectifier
DEEE) B3
2.
An oscillator
EeESnm
3. =
A modulator
S §SED m
4. %
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A carrier 1s simultaneously modulated by two sine waves with modulation indices of 0.3 and 0.4;

then the total modulation index 1s

STABAR (HEISEN 0.3 HOOK 0.4 € ey BOH R SEOTE T 50° 2,370 28
0008 Sdofio SrdsBad Dabadod. & HEAS o SrBBAS
(DEF0 V.
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